Put the numbers in a column. Make
sure the place value columns lme up '

3174 + 5343 1076 + 1445 1946 + 7114

3174
+5343
8517

6741 + 3204




Put the numbers in a If you have to subtract
column. Make sure I 6 ~na bigger number from a
the columns line up. “J — 7 Y smaller number, make an |
. exchange from the next

/) place value column.

Subtract the numbers |
in each column.
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3470 — 1228 5534 _ 132 4636 — 642 6428 — 2912
3470
_ 12928
2242

1 8829-7400 | 3723-2468 ' 4180 - 2490




square number is th 407
This symbol

‘ itmse:hf . x 4 x 10 x 10
> being squared.

x 10 x 4 10

=2x10x2x10
=2x2x10x10
= 400




It | 2,3,'5;7,11,13,172,19, 23,29, 31§
| two factors — one and itself. 13 can only be made by
Here are some examp_[és; j> multiplying 1 and 13 together.
~ Whole numbers that aren’t prime are made up of prime numbefrs E
multiplied together. These numbers are called prime factors.

What are the prime factors of 20? ~ 20 = @ X @ X These far et ;
actors B
What are the prime factors of 42? 42 = @ x(3) x g;lgtoe and 42.

Draw a line from t‘haé start of the maze to the finish.
You can only pass through prime numbers.

o I 15
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- Write the prime factors for the numbers below in the boxes.
e 18 =3 x 6. 3 is a prime number. | |
18|6=2x3. 2and 3 are prime 27
: numbers. So 18 =2 x 3 x 3.

1 12




Divide each number by 3. | - then divide . . then divide
Start with the hundreds... i the tens by 3. B the units by 3.

\ 3r2 0

] v If you have a remainder, | If there isa remalnder after you ve
| o lelded the units, mark it on llke th.lS

1

112 passengers 174 passengers

012r4
a[111 22

13 | minibuses minibuses minibuses




f you know the lengths of some. sic
can work out the lengths of the others Here

" You don’t know the length of this part.

But, the opposite side is 4 cm long.
So tth part must be 4 cm=-3icm.= TEcm:

Then add all the sides together:
3+4+15+15+3+1+1=

The shapes aren't ;
drawn to scale.




ft]o‘x S

Split the shape into two
rectangles:
4 cm

Next, work out the area of each rectangle:
Rectangle 1 =4 x 6 = 24 cm?
Rectangle 2 = 4 x 20 = 80 cm?

Rectangle 1

6 cm Rectangle 2

Then add them together for the total arec;;

S ot = -

The shapes aren;t

(e | drawn :o sca;e.2
cm —> : -
2 em S : 5 cm
bx 12=72cm? l
5x 10 =50 cm? I
I
Total area = 122 cm? I Total area = cm?
\ KE' 10 em~y I 12 cm~,
i N <3 cm i 3icm .
| 7 o | ’:3 cm ; 4 cmq | | i
| KW  2cm : 3 cm 3 cm
I
I
Total ar?a = cm? : Total area = cm?
I
8 cm
Gans A : 3cm
4cm A : B iy 3 cm
2 cm 2cm N3 m | 8 cm
2 cm
I
|
I
Total area = cm? I Total area = cm?




The triangle is half the area of the
rectangle. So, find the area of the

ctangle and then divide by 2.

Each square is 1 ecm?.

Count each square
that is more than
half-covered by
X|X the shape.

I The area of the shape is about 4 cm®.

re




Probability is the chance What is the probability of
of something happenlng.j landing on 3 on this spinner? =)
It can be written asa 4 segment out of 4 is a 3.

' So, the probability of landing o

. S

| t o el - 11 SC ? |
W B - You pick a club from a pack of cards.
C - Tomorrow will be 24 hours long. D - You will grow 10 metres tall.

impossible O 0.5 1 certain &
I N

The probability of landing on red is —;—

The probability of landing on blue is greater
than the probability of landing on yellow.




